[ Efficiency vs vertpos |
- 0.2

20.18F
g
20.16
(8]
§0.14
[
£0.12
0.1
0.08
0.06F
0.04F
0.02F

1.0

Ratio

=
TTT LT T T T

o
©
a

107 1

=
2
N

10 0?
TP vertr (cr%)

—s— DQM_VUUUI_RUUUU0U000T _Global —_CMSSW 071G
—— DQM_V0001_R000000001__Global _CMSSW _pl08
|:Efficienc —— DQM_V0001_R000000001__Global _CMSSW pl075

—— DQM_V0001_R000000001 _Global__CMSSW pl07
~n 0.2

R TR e s
0 r : : : H :
S L S ARt SIS SR
> r : : : : :
2 E : : : : :
T S

s o o
e L/ S
oogf-
0.06F -+ % ------- oo b
oot

ot

Ve T LA S B

il
i
5

Ratio

[y
TTTT] T
.

s
s
e
e
<

10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~n 0.2
>
Q. 0.18f
c o
7 0.16F
£0.14F
& o
c0.12
0.1
0.08
0.06F
0.04F

0.02

efticie

JRVs| ST

Ratio

210 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


